S LLAIS

Profile kit
1 o aoxdoL 200mm 2
2 “‘/ 4 40x40L 680mm 1
Hardware kit

3 h VESA Bracket 100/75 1
4 » Screen support bracket EVO Alu, 15mm 2
5 e Cilindrical socket head M6x16 Black, steel 2
6 e Cilindrical socket head M8x25 Black, steel 10
7 fi=== Philips head screw M4x16 4
8 §” Sockethead bolt M8x16 Galvanised 4
9 ' Cover cap for connector bracket 36x36x38 2
10 == Cover Cap 40 x 40 4
n @ Corner bracket 40x40 2
12 ¥  Slotnut M6 2
13 ¥+ SslotnutM8 16

3x

M8x25 bolts

and M8 slot nuts

are used to mount the
brackets to the uprights

Integrated single monitor mount VESA 75/100 mm

revision 1.2

M6x16 and M6 slot nuts
are used to mount the VESA
plate to the profile

4x & M4x16 used to mount
the screen to the plate

% Slot nut M8

/A M8x16 screw
socket head DIN 912

0
@ﬂ

Corner Bracket 40

@ Cover cap corner 40

Connector bracket parts

Example

Connector bracket assembly

Break-off the lip
with a screwdriver
if neccessary



